TiEEH :

S . TRIRH  SEERITBEKE(T=6cm)

817 : 1.00m?

THRIEE HA | Bm | B8 | BB | £8 | Wit
SRR T BEKE m? 1.00 620 620
BB m? 1.00 60 60
1: 3ACRWEE m> 0.03| 3500 105
WRTE m? 1.00 250 250
SEETH(EUERER) = 1.00 5 5

m° B & 3t 1040 Tt
TEEMH :
g . TRIER : BERRTB/KE(T=6cm) B : 1.00m?

THRIEE mAR | B | e | |E | &8 | Wi
SRR BEKE m? 1.00 620 620
BIOEH m? 1.00 60 60
ST R m> 0.04| 1250 50
HWRIE m? 1.00 150 150
S TR(ETERIER) = 1.00 10 10

5 m B B 3t: 890 T
TRREH
SE®l . TRRIER : SRR BE/KET=8cm) Bfi : 1.00m?

THRIER AR | B | 2 | BE | @8 | M
SRR T BEKE m? 1.00 680 630
BB m? 1.00 70 70
TR m> 0.04| 1250 50
HRIE m? 1.00 150 150
EETH(ETERER) = 1.00 10 10

m° B & &t 960 T
Ti2EH
g . TiRIER : SRR B /KE(T=10cm) 817 : 1.00m?

THIER #2HB B 2= BB 728 By 5
SERR T BEKE m? 1.00[ 1660 1660
BB m? 1.00 80 80
TR m> 0.04| 1250 50
T m? 1.00 150 150
EE TR(EUERER) = 1.00 10 10

m’° B B 3 1950 7T

680

680

750

1740



